
>  >  p l o t ( s i n ( x ) , x = P i / 3 - 1 . 5 . . P i / 3 + 1 . 5 , v i e w = - 1 . . 1 ) ;

x

0

8 4 8 2 8 4

1



>  >  p l o t ( s i n ( x ) , x = P i / 3 - 0 . 1 . . P i / 3 + 0 . 1 , v i e w = - 1 . . 1 ) ;

x
128 16 128 64 128 32 128 64

0

1



>  >  p l o t ( s i n ( x ) , x = P i / 3 - 0 . 0 1 . . P i / 3 + 0 . 0 1 , v i e w = - 1 . . 1 ) ;

x
1024 256 1024 512 1024 128

0

1



>  >  p l o t ( s i n ( x ) , x = P i / 3 - 0 . 0 1 . . P i / 3 + 0 . 0 1 ) ;

x
1024 256 1024 512 1024 128



>  >  p l o t ( s i n ( x ) , x = P i / 3 - 0 . 0 0 0 0 0 1 . . P i / 3 + 0 . 0 0 0 0 0 1 ) ;

x
1048576 16777216 8388608 8388608



>  >  p l o t ( e x p ( x ) , x = 1 - 1 0 ^ ( - 6 ) . . 1 + 1 0 ^ ( - 6 ) ) ;

x
1



>  >  p l o t ( x / x , x = 0 - 1 0 ^ ( - 6 ) . . 0 + 1 0 ^ ( - 6 ) , d i s c o n t = t r u e ) ;

x
0



>  >  p l o t ( s i n ( 1 / x ) , x = - 0 . 1 . . 0 . 1 ) ;

x

0

1



>  >  p l o t ( s i n ( 1 / x ) , x = - 0 . 0 5 . . 0 . 0 5 ) ;

x

0

1



>  >  p l o t ( 1 / ( 3 + s i n ( 1 / x ) ) , x = - 0 . 0 5 . . 0 . 0 5 ) ;

x
0


